Rational Numbers

EXERCISE 2 (A)

Question 1.
Write down a rational number whose numerator is the largest number of two
digits and denominator is the smallest number of four digits.

Solution:
Largest two digit = 99

Smallest, number of f%r digit = 1000 Now numerator = 99 and denominator = 1000
«. Rational number = 00

Question 2.
Write the numerator of each of the following rational numbers:

=125 3
() 157 - ) T35
-85
(iii) E (iv) 2
(v) 0
Solution:
() _]—]22.,;5‘
Numerator = —-125

L
@) 137

Numerator = 37

oo =85
() 53

Numerator = —85

) 2= 2
(w)2—l

Numerator = 2

(v) 0=

Numerator = 0



Question 3.

Write the denominator of each of the following rational numbers:
) 7 . —18

@) 75 ) =5

(iiiy — (iv) -7

Solution:
(0 T
-15
Denominator = —15
. -18
(if) ETY
Denominator = 29
o T3
(iii) a1
Denominator = 4

(iv) =7 = _T?

Denominator = 1

020
(v) 0=~

Denominator = 1



Question 4.
Write down a rational number numerator (-5) x (-4) and denominator (28 — 27) x (8
-5).

Solution:
Numerator = (-5) = (-4) = 20

Denominator = (28 — 27) x (8 — 5)

= x@3)=3
20
*. Rational number = 577 =4
Question 5.

0] S in integer form is .......... .

ii) — in integer form is .......... ;
i ge

. 18

(iii) If 18 = -a- thena = ... .
57

(iv) If =57 = — then a = ..........

Solution:

-15
() 4 in integer form is = =15

23, .
(i) g in integer form is = -23

18

y 18 18
(i) If 18 = o then a = T =1

57
(iv) If =57 = - thena= —= =-1



Question 6.
Separate positive and negative rational numbers from the following :

33 33 1315 I
5’ -5 -5"5""7 -3 -8 8

Solution:

-3 3
Positive rational numbers are 573
(as both or negative)

-13 13

3 -3 (as both are negative)
) ) -3 3 15

Negative rational numbers = S _5°_3
-15

and 8

0 is neither positive nor negative integer.

Question 7.
Find three rational numbers equivalent to
& 3 § & 4
(i) 5 (if) 7

-5 8
(iii) ) (iv) 15



Solution:

D5 =532 " 10 5x3 15 2nd
3Ix4 12
5x4 20
Hence, —, — and —= are rational
ence, 15 75 and o, are rational
numbers equivalent to the given rational
ber =
number % .
4 4x2 8 4x3 12
W) 73 -3~ 75~ o
g, Ax4a 16
and 744 _28
H 8 12 p 16 -
ence T, T5y and g are rationa
numbers equivalent to given rational number
4
_'?"
o 0 —5x2 =10 -5x3  -I5 4
W) g = 9%2 ~ 8 9x3 27
~5x4 =20
9x4 36
Honge, 10 SIS 20
ence, 18 ° 27 an 36 are rationa
numbers equivalent to given rational number
-5

9 -



_ 8  Bx2 16
(V) 775~ Tisx2 30"

8x3 B 24 d 84 B 32
15%3  —45 M 15x4 T —60

16 24 32

Hence, '—E . _—45 and Tﬁ_ﬂ are rational

numbers equivalent to given rational number

8
15

Question 8.
Which of the following are not rational numbers :

(i) -3 (ii) 0

L0 .y 8
(ifi) 1 (iv) 0

v)

=

Solution:

(H-3= T is a rational number.

(ii) 0= T is a rational number.

(iif) — is a rational number.

N S

is not a rational number.

(iv)

is not a rational number as numerator

(v)

ol ojoe

and denominator both are zero.



Question 9.

Express each of the following integers as a rational number with denominator 7 :
()5

(i) -8

(iii) 0
(iv) -16
(V)7
Solution:
g 5x1 35
h3=—=7"=73
2 on -8x7 -56
i) 8=—"—=7
e 0x7 3 E
(iii)y 0 = 7 =3
_ B -16x7 _ =112
(iv) -16= - =3
. TxT B i’?i
M7==="=73



Questionlilo.
Express 7 as a rational number with denominator:

Solution:
() 20
é B Ix4 B E
5 5x4 20
(i) =20

(iii) 45
i _3x9 _2_’1
5 5x9 45
(iv) 25
3 3x5 E
5 5x5 25
(v) =35

3 3x-7 _ -12
5 5x-7 =35




Question 11.
i , ,
Express 7 as a rational number with numerator :

Solution:

@) 12

(v) 20
4 _4x5 20
7 Tx5 35
Question 12.
Find x, such that:
D3 "% =373
. w22 e
(lﬂ) 7 -35 (I’} x -

36 -27
(v}'-;'=3 {vf}-";-=9



Solution:




=27 9x(=3)
x  1x(=3)



Question 13.
Express each of the following rational numbers to the lowest terms :

L 12 . -120
M 13 () Taa
’ —48 14
(i) “ 77 (iv) ~56
Solution:

)12

() T

12)15(1
12
3)12(4
12

=

(Dividing by 3, H.C.F. of 12 and 15)

12+3 _ i
= 15+3 5




-120
W) 7723
120)144(1
120
24)120(5
120

(Dividing by 24, H.C.F. of =120 and 144)
-120+24 -5

= 144-24 6
.
(iii) )
48Y73(1
48
24)43(2

(Dividing by 24, H.C.F. of -48 and -72)

—48+24 -2 2
= T7+24 -3 3
14
() 56
14)36(4
56

X

(Dividing by 14, H.C.F. of 14 and -56)

4+14 1 -l
—s6:14 -4 %73

=



Question 14.
Express each of the following rational numbers in the standard form.

=7 oy D
0 =3 i) —3
N N4
(iid) 30 (iv) 5
Solution:

We know that, a rational number is said to
be in standard form, if its denominator is

positive in lowest term.

=17
(i) 53
5 =5
TR
=11
() —25 = 20
4 -4
(iv) — = —

-9 9



EXERCISE 2 (B)

Question 1.
Mark the following pairs of rational numbers on the separate number lines :

3 1
(/) = and -

4 4
0 2 ang 2
(i) 5 and =
o5 2
(dsi) g and =3
T
(iv) 5 an 5
1 5
(v) n and “7
Solution:
3.1
(i) 7 and =7
_1 3
4 4
et
-1 0 1
w2 =3
(i) 5 and 5
_3 2
5 5
TR e e o e



o3 2
(iii) 3 an 3
-2 3
3 6
>
-1
N
(iv) 5 an 5
_4 2
5 5
>
-1
LS
(v) 3 an 2
_3 1
4 4
D o e B e e o e o e
-1 0 1
Question 2.
Compare:

N3
(i) 5 and -
(i) — and —

2 2

3
(#ii) -3 and 2?

I
(iv) 17 and 0

3
(iv) 0 and n
(vi) 3 and -1



Solution:

3 and >
{f)san?
3
5
e r—
-1 O 51
7

5
Since, 7 is on the right side of the number

line.
5.3
"7 5
j* -_T d_s....
(if) 5 and 3
= 3
2 2
Since, P is on the right of Q.
3.1
=272
i) -3 and 2> or
(iii) -3 an 2 %'
11
-3 4
< : + >
Q P
Since, P is on the right of Q.
1 3
= T >-3or2— >-3

4 4



o -3
(iv) -1 > and 0 or 5 and 0

-3
2

L3

: 0
Q p
Since, P is on the right of Q

=>0>?
iv) Oand >
(W) Qand 3
r 3
0 4
-« + $
QP

Since, P is on the right of Q

— >
= 2 0
(vi) 3 and -1
Since, P is on the right of Q
= 3> -1 3
Q P
Question 3.

Compare:



1 |
(i) ——7 and O (ii) n and 0

4
I TS T VR
(iii) Ban 5 (iv) g an 12
R S
(v) —5 an -9 (vi) 3 an ~6
2 -3 . =5 7
(vii) 7 and 8 (viii) 3 and 12

Solution:

1

(@) "3 and 0
Since, “2 is a negative rational number

and always less than 0,

* ml{ﬂ,
-4

1
(if) 7 and 0

Since, 1 is a positive rational number and

always greater than 0.

=5
.40

(fiif) —7 and —

8 5
-3 x5and 2 x 8

['.'gand g:axd and bxc)



15<16 (-axd<bxc)

=
(iv) g and T

S5x—]12and 7 = 8
a c
+—and —=>axd and bxc)
b d

60 > 56 (raxd=>bxc)

5 -
(v) 9 and )

5x-9and -5 x -9
(n‘%and%::axd and bxc]

—45 < 45 (raxd<bxc)
5 -5

_{_

-9 -9



7 ot =
(vi) an ~6

~T7x-6and5x 8

(-.*Eandi:.-axd and bxc
b d

i 2 and —
(v:}?an =

2x8and 7 x -3

b
16 > =21

2.3
77 -8

=
(viii) and

~Sx-12and 7 x 8
60 > 56

Question 4.

(vaxd>bxc)

( a andi-:;axd and bxc]

(vaxd>bxc)

Arrange the given rational numbers in ascending order :

7 =11 3

@ Tor 30 ™ 7

s 2
(i) 9’12’“ -3



Solution:

7o S
@ 7o T30 3 73
7 11 -5
= ifi‘ lifi and ]?;
_ Tx3 ﬂ d—5x2
T 10x3° 30 29 T5%2
(- LCM of 10, 30 and 15 = 30)
_z21 n -
30’ 30° 30
-+ + } $ :
=10 11 21

Since, -10.< 11 < 21

-10 11 21

LT S T = T

(if)

30 . 30 30
5 -11 7

15 S 230 <70
4 -5 2

" a _—

“o' 12 and 3



4 -5 -2

97z ad 7
—4x4 -5%x3 d -2%x12
9x4 * 12x3 ™ 30012

(- LCM of 9, 12 and 3 = 36)

16 15 -2
36 * 36 209 3

.
*

i

$ ¥ >
-24  -16 -I15

Since, -24 <-16 <-15
-24 -16 -15

36 36 - 36

2 _4 5
= 339012

Question 5.
Arrange the given rational numbers in descending order:
5 13 -7
i) =, ——= and —
% "6 24 12

3 -3 8
() Z15° 30 2 T35



Solution:

5 13 Piiutl
B3 T ™ 1
_3 -3 427
T8 16 M,
_5x6 -13x3 j ZTx4
" 8x6°’ 16x3 2™ 1244

(- LCM of 8, 16 and 12 = 48)

_30 -39 i3

48" 48 " 3

o« 1 =

-39 =28 30

48 48 48
8712 16
3 -13 8
@ Tio- 30 2 T3
3B o438
100 30 ™%
-3x6 -13x2 -8x3

10x6° 30x2 nd 203
(~ LCM of 10, 20 and 30 = 60)

Since, —18 > 24 > 26

,-18 24 -2
T 60 T 60 60
-3 _ -8 -13

= > = > =

10~ 20 ~ 30



Question 6.
Fill in the blanks :

3
(i) 3 and To areon the .......... side of zero.
) 3
(ii) ~3 and To 2are on the .......... sides of
Zero.
L 3
(iii) "3 and ~1g 2reon the .......... side of
zero.

3
(iv) 3 and ~1o areon the .......... sides of

ZEro.

Solution:

5 3
) 3 and 7o areon the right side of zero.

5 3
(if) =g and T are on the opposite sides of

8 10
Zero.
5 3 ,
(iii) — 3 and — To areon the same/left side of
Zero.

3
(iv) 3 and ~ 1o areon the opposite sides of

ZETO.



EXERCISE 2 (C)

Question 1.
Add:

N a2
{I} 5 dan 5 (i) 5 an 5
i) —= and = 2 di
(i) 77 and 73 () =5 and —¢
=T g — LT 7
(v) 35 and —=  (vi) 5 and — ¢

Solution:

'(!')5an5..5 :

_1+2 9
5 5
i-:._ d_z__"d 2
(l)gang—9+9
o =4+2 2
ar ug
i d-l**—:—-S-+L
(i) =5 and 7 = = +

_— = = —— —
—

. 4 d -7 _j 7
@) s T3 TN
-4+7 3



-7 9 -1 9

W) sand 55 =55 v 55
(D9 -6
a 25 ~ 25
e A
(Vi) 56 and 50 = 26 T 36
D+ -4
- 26 26
Question 2.
Add:
N
() 5 and 3 (if) g and g
i 3 and 2 v) => and -~
(#ii) -3 an 3 (iv) g an 13
T a3 on 2 g
¥) 53 and 72 (vi) —7g and —o7
=R B - R |
(vii) 25 and T35 (vill) Tyg and o3
-9 ~11
(ix) and

-16 8



Solution:
2 2
(i) 5 an 5
-2x7  3Ix5
+
S5x7 Tx5

(- L.C.M. of 5 and 7 = 35)
-14 15

——---—+—

35 35

~14+15 1
35 35

n 45 4
(i) 6 amig i + 5
_-5X6_+4x4
6x 6 9x4

("~ L.C.M. of 6 and 9 = 36)




2
(iif) -3 and 3‘ = -i—- +

_ -3Ix3 2x1

T 1x3 * Ix1
(“LCM.of l and 3 = 3)

-5 7 -5 7
(v) 5 and 7o = o= + 2

_ =5x2 Tx1
© ox2 T 18xI
(*L.CM.of9and 18 = 18)
=107 -10+7 -3
T T 18 18
7 S
™ 2 48
_ =Tx2  -5xI
T 24x2  48xl
(+ L.C.M. of 24 and 48 = 48)
4, s
48 = 48
_(-14)+(-5) -14-5 -19
I 48
5 -1 -5

|
{VI}—_IEW-—??—_E-I.E



=Ix3 =5x2

T 18x3 T 27x2
(- L.C.M. of 18 and 27 = 54)
s |
54 54
_(B)+(=10) -3-10 -3
54 54 54
e g
(vii) =75 ~ 25
_ =9x3 . ~1x1
©25x3  75x1
(v L.C.M. of 25 and 75 = 75)
e L.
5075

C(=2D+(-)  -27-1  -28
= 15 1515

3 -1 13 -1l
(viii) —and 2% 16 T s

-13x3 N -11x2
16x3 24 %2

(- L.C.M. of 16 and 24 = 48)
-39 =22

= e e—

48 48

_(39+(-22)  -39-22 -6l
48 48 48




S99
() Tgad 5~ =75+

9x| -11x2
“16x1 T 8x2
¢+ L.C.M. of 16 and 8 = 16)
2. =z
16 = 16
C94(-22) 9-22  -13

16 16 16

Question 3.
Evaluate:

=2
()5 +35+

-8
i) 5 +

9 "9 g

Sl nw
I




Solution:

() 5 + o+ —

5 -1 3
(iif) Y] + 3 + 16
_ =5x2 -1x6 3x3

24%2 © 8x6 | 16x3

(- L.C.M. of 8, 16, 24 = 48)

-10-649 _ -16+9 _ -7
48 "~ 48 48

n



7 4 -4

™ &+ 25+ 230
1 -4 4
=— + — + —
6 "15 t 30

-Tx5 N ~4 %2 . 4x1
6x5 15x2 30x1

(- L.C.M. of 6, 15 and 30 = 30)

_35 -8 a4

“30 T30 T30

_ -35-8+4  -43+4 -39
30 30 30
V) 2+ 35+ 75
2.2 =2

1 515

-2x15 . 2x3 -2x1
Ix15 © 5x3 © 15xI

(-L.CM.of 1,5and 15 =15)

|
+
|
|

~30+6-2 3246 26
15 15 15



i) =5+ =+ 5

]

Questi

~-11x4 . 5x3 N =36
12x4 16x3 8x6

(-~ L.C.M. of 8, 12 and 16 = 48)

~44+15-18  —62+15 —47
48 48 48

on 4.

Evaluate:

(i)

(if)

11 -3 2
+ — + —

1879 T3

=R
4 3 6

-5

(fi) S5+ —7 + —=

(iv)

-8 12

-—+£+2
3 2

-3 =5

(p}5+—+—“

4 8



Solution:

-11x1 -3Ix2 -2x6
18x1  9x2 T T3x6

(- L.CM.of3,9and 18 = 18)

1 e e

18 18 18

_-11-6-12 29

18 T8
9,13 2
@ 3 +3*%

Ox6 N 13x8 . 25x4
4x6 Ix8 6x4

(- L.C.M. of 4, 3 and 6 = 24)

_-54+ 1o4+m{r
24 24 24

-54+104+100 150 25

24 24 6




(iv)

_ —5x24 -5x3  5x2

1x24

T 8x3 T 12x2
(- L.CM. of 1, 8 and 12 = 24)

-120 =15 10
+ + —
24 24 24

-120~15+10 _ -125
24 24

2.5 2
2 1

—2x2 . 5%3 N 2x6
3x2 2x3 1% 6

(~L.CM.of 3,2 and | = 6)

~4+15+12 23

6 6



B Sx8 N -3Ix2 -5x1
Ix8 | 4x2 | 8xI

(-L.CM.of 1,4 and 8 =8)

40 6 S
8 8 8
_ 40-6-5 40-11 29
8 8 8
Question 5.
Subtract :
N — fi 3 " fi =3
(i) g from o (i)  from —
P B
(iif) T rom s (iv) T rom s

4
(v) T from -2



Solution:

n 2
(1) 9 from

— T — = e

(iif)

o -5
(iv) T from 8

— = ee———

-2x11

4 %1

Ix11

11x1

-22+4  -18

I

11



Question 6.
Subtract :

N R |
(i) 10 mm5

-7
(i) —= from -2

-8
(v) 15 from 0

(vii) =2 from To

) 3
(ix) 4 from 3

Solution:

-3 fom L
() ~7g from 5

(i) a from -2

-6 -8
(i) 25 from 5

(iv) 51 from 1

(vi) 0 from rl

i3 om =
(viii) g from 16



(iv) —7 from 1|

- (3
1 L2
1+E_]x21+16
1 21 21

li

-3
(vi) 0 from Iy

N
8 8



-3
(vii) -2 from 10

-3 2 -3+2x10 17

-5 5§x2 =5 10

16 8x2 16 16

_=5-10  -15
16 16

3
(ix) 4 from ST

3 4 -3-4x13
13 1 13
-3-52 55

13 13




Question 7. y !
The sum of two rational numbers is 7i. If one of them is &, find the other.

Solution:
11
** Sum of two rational number = -21-
3
and one of them = E
. The oth tional be —J-l- E
2 e other rational number = 54" 3
_1 3x3_ 119
24~ 8x3 24 24 .
_11-9 *_3_.
24 24
Question 8.

-

= R
The sum of two rational numbers is 11. If one of them is 7, find the other.
Solution:
-7

~* Sum of two rational number = Tz"

13

One of them = 24

-7 13

*. Other rational number = TR

-1x2 13
12x2 24

14 13
24 24

I

-14-13 =27
24 24




Question 9.

=]

3

The sum of two rational numbers is -4. If one of them is 12, find the other.

Solution:
** Sum of two rational number = 4
13
and one of them = ——
12
13
*. Other rational number = —4 — BT
4 13
— + —
12

_ —4x12+413  —48+13  -35
12 T 1212

Question 10. ; y
What should be added to ~&to get ~ 71 ?



Solution:
Let the required rational number be x

3
Oth = o —
ther number T

11
Sum of two number = 34

According to question,

3, . n
16 24

1 3

=X 94 " 16
_IEx'2+3><3
Y7 24x2 T 16x3

(- L.C.M. of 16 and 24 = 48)

2.9

T 487 a8
22+9 31
X = =

48 48



Question 11. ;
What should be added to 5 to get 2?

Solution:
Let the required rational number be x

Other number = ?

Sum of two number = 2
According to question,

:§‘+.t'=2

= X 5

B 2x5+3 B 10+3 13

5 5 5

Question 12.
—4
What should be subtracted from 5 to get 1?

Solution:
Let the required rational number = x

-4
Other number = ?
Difference of two number = |

According to question,

—4

5 x=l

4 -
= ?-l—x




Question 13.

B
The sum of two numbers is ~ 5. If one of them is -2, find the other.
Solution:
) 6
' Sum of two rational number = _E

and one of them = =2

6 2
. Other rational number = —g — (— T]

 6+2x5  —6+10
- 5 5

_4
5

Question 14.
=T 3
What should be added to 12 to get 58?

Solution:
Let the required rational number be = x
-7
Other number = —
12
. 3
Sum of two numbers = 3
-1, 3
T2 YT
_3 I
= X i 2
B 3x3 . Tx2
"~ 8x3  12x2
(- L.C.M. of 8 and 12 = 24)
_2 .14
~ 24 " 2
9+14 23

24 24



Question 15.
5 4
What should be subtracted from ito get 5 ?

Solution:
Let the first number be x

Other number = 5
9
Difference of two number = 3

According to question,

s .8
"9 X*7 5
_s5 9
*T 975
_5:»:5 9x9
x_9x5_5x9
(+ L.C.M. of 9 and 5 = 45)
5 8l
YT 45 7 45
25-81 56
x= = e

45 45



EXERCISE 2 (D)

Question 1.
Evaluate:
5 3 2 6
() T x5 {u) 3 %77

x>
(-12 45 13
{”’)[ ] [ J W) g * 75

2 14 (=5
) 3% "( 5 ] (vi) 275 * [ﬁ]

0 (3)- () om (5) (3
(vii) | 57| * 16 ) (viii) 7 X[E)

Solution:

(=12)x10
- 5x(-3)

—4x2=8
BRECRSE
™ 35 % 75

C(45)x(-13)  (3)x(-1)
T 39x15 3xl

|

=1

1 2
() 33 [fzﬂ

3x8+1 [ 2x5+2J
= b T
8 5

25 (_gj 25%(-12)
T8 5 8x5

5x(=3) -15

2x1 2




L] [_
0 255 * (16

_ 2x25+14 [—_Sj

T s e

= (5e)

= — X

25

C64x(=5)  4x(-) 4
©25x16 5x1 5

o (2)-

)
16

_ (B3 EDxED 1
9x16 Ix2 6
5 -9
w(3)-3)
5!(—‘9) 1x1

T ((27)x20  3x4

Question 2.
Multiply:

R
(i) 25 an 5
Y
(111)63 and 3

Land1

(v) 1‘5 and 18
i 5‘]- d-16

{vii) g and -

2 3

(ix) 65 and ——

8

j 2 d-14
(xi) og and -

Ll
12

1 2
(if) 1§ and 107

3
o -13 =25
(iv) T and 2%

1
(vi) 2H and -7
jii) 35 r.‘l_—]8
(viii) 35 an 25

3
(x) 3§ and -10

5
(xii) -24 and 6



Solution:

3 4 3x4 12

- 2
(ii) 13 and1ﬂ3
_2){2——9}(32 —3)(4
8 3 8x3

62 ang 2
(iii) 3an 3

20 (-3 _ 20x(-3)

I 3x8
C5x(-) =S
T o1x2 2

-3 d‘_”

(v) 75~ and ¢
_ -13x-25  -1x-5 _ S

15%26  3x2 6

1 and 18

(v) 16 an

’ 18=7x3=21
= — = » =
6

1
(vi) 2'1“‘1‘ and -7

2x14+1 - »

7 “ED=1 26N
209x(=1) -29
T2 2

1
(vii) 5 3 and =16

41
=g *(C16)=41 x-2=-82



jii) 3 d:}j
(viii) 35 an 25

18 35x(-18) _ 7x(-18)

=35 x

25 25 5
It |
S5 s
62 and -2
(ix)  and —¢

20 -3 20x(-3)
3 8  3x8

"2 2772
3
(x) 3":.; and -10
3x5+3
= % (-10)
18
=3 x (-10) = 18 x (-2) = -36
= nd -14
(xi) 283 -
27
=2—sand(-l4)
_2Tx(-1) 27 134
S22 T2
i) —24 nd"s'
(xif) ~24 and T2
_ —24x5  -3x5
16 2

=15
= =7

b | -



Question 3.
Evaluate:

o) - (43,
—6x—| _|-4=
M) {7°*18 9,

\
53+ (3)-(5%)
-9 44) {9 ) (=100




Solution:

o o) (-4

_ ZIXE] [M)
- B 9

-5 38  -5x3  38x]

T3 79 T 3ag T ox
_—15+33 _2__%_22
9 —~ 9 “9




(11 21) [5 63]

—_ | —— ¥ — 4 | =X—

-9 44 9 100

=_1><'?+1><T___T_ l
Ix4  1x20 12 20

__'?xS N Tx3

12x5  20x3

(- L.C.M. of 12 and 20 = 60)
35 21 -35+21 -l4

60 60 60 60

o )3
V) 179 " 225 T (2178

(5 6} (24 7)
—X— 4 | =—x—=
9 25 21 8

[-35;_13) (lx—_ls)
™M (39 * 7 ) -5 14
_ {‘_35,;_(“‘3)J [lxis_]
=130 77 )90 14

_ (5% [1___(_2]
T 3x1 { 5x2

5x10 1




(-4 3 9 10} (-3 -1)

W) {57257 S) W2
_(—2:.:3) [33(2] [+3x(_1}‘
“Usxt )T eixa) T 2x4

)+ (5)-6)

s)7 1) (8

—6x8 6x40 3x5
5x8  1x40 8x5

I

~ —48-240-15

- 40

_ —288-15 303 _§"

40 40 T 40
Question 4.

Find the cost of 3 % m cloth, if one metre cloth costs 325 %

Solution:

|
Cost of | metre cloth = ¥325 5

_2x325+1  650+1 651
2 2 2
; [2x3+lu1)
ancnstnf32m 2 ~2m
51 7 651x7
-_— a —_—=
2 2 2x2
_ 4557 =311 1
=T T3y



Question 5.

1
A bus is moving with a speed of 65 7 km per hour. How much distance will it cover

. 1
in 13 hours.

Solution:

1
Speed of bus per hour = 65 B

_ 2x65+1 _130+1 131
2 T2 T g km
i 4
Time taken=l“hﬂur=§haur
131 4 131 2
= — x = X =
2 371 "3
Distance covered = Speed x Time
_ B o4
"2 73
_131x2 262 1
=% —8?3km
Question 6.
Divide:
NEI 5 20, =S
() 75 b 5 (i) =5~ by 5
I =
(i) —5 by (iv) —7 by 5
oy Ly 24 1
(V)— }I‘ _2 (V!) 9 }" Ig
21 11

) 35 by —
(w:}5}'9

(vii) 77 by =7



Solution:
15

(if)



[4_i 14 =2
T S 7
-2x(-2)
11 -4
y 2 1
(vi) =g~ by 3
o2 1 22 18
T9 T8 T 9 T
2 2
= —— g =
11
_‘2_"2__j__4
Toxl 1
{w:}35b}f?
=35+ =L 535x —
- 9 ~ ~7
S 9
=5 x —
~1
5%9 45
= = —— =_45

21 [11} 21 9
= == | T ey e e

_21x(=9) _ 189

44x11 434




Question 7.

Evaluate:

(5]3%+]§ {ir’)3%—1‘§-
(iif) (3%”%] * (3%“%]
Solution:

3> 42
35 +13

12x3+5 3x1+42
= +
12 3
41

5
=5 *3 (“LCM.of12,3=12)

_4Ixl 5x4 41 20

T T3 T2 T2

—4'+20—ﬂ—si
12 12 T2
n3d 2
(ii) TR
_12x3+45  3x1+2
2 - 3
_ﬂ _5_ L.C f =
=13 "3 (- LCM.of 12,3 =12)
_4Ixl 5x4
T 12x%1  3x4



5 .2 5 .2
oo i3 -(3

B ]2x3+5+3xi+2
B 12 3

. (12x3+§“_3xi+2]

12 3
[41 SJ B 41 5
12 3) (12 3

(~ LCM. of 12,3 = 12)
(41+2u‘\ | (41-20]
12 J* 12

61 21 61 12

i

IV RRVIRATIET
61 19
BEIREET]
Question 8.

—8
The product of two numbers is 14. If one of the numbers is 7, find the other.

Solution:
- Product of two numbers = 14

-8
and one of these two numbers = 7
-8
The other number = 14 + T
14 7 98 -49
A% —— = o 7
8 8 4
Question 9.

2
The cost of 11 pens is ¥3 3. Find the cost of one pen.



Solution:

2
The cost of 11 pens = I3 3

_3x3+2_?u
T3 Y3

11
The cost of one pen = 3 11

1 1
- " —
3 1

Lk

Question 10. ]
If 6 identical articles can be bought for %2 17. Find the cost of each article.

Solution:
6
Cost of 6 arhclcs—ﬂﬁ
B 2x17+6 _?ﬂ
17 T
Cost of each article = ﬁ +6
D 1 20
=17 %% %51
Question 11. .

By what number should & be multiplied so that the product is 16 ?

Solution:

-3 [:EJ
Number = s 3
16

_—9 ]

_2_ 1
3 2

-3
=— x
8



Question 12. i -
By what number should + be divided so -15 that the result is3s ?

Solution:
O
umoer = 28 7
-15 =7 3
- . - =
28 5 4
Question 13.
Evaluate :
[32 s] 32 3)
15 5 15 5)°
Solution:

[32 s] [32 s)
15 5 15 5

[32><1 N 8x3] _ (32“ _w)
15x1 5x3) " L15x1 5xI

(- L.C.M. of 15, 5 = 15)

__[32+24)| [32-24)
B 15 N 15
56 8 5 15

51575 “ g 7




Question 14. i
Seven equal piece are made out of arope 5 of 21 Zm. Find the length of each
piece.

Solution:
_ . .5

Length of 7 pieces of rope = 21 7m

21x?+5 !52

7 7
152

Length of each piece = R 7

152 152 5

1
7 7 9 49

= - x 5= =3=m

EXERCISE 2 (E)

Question 1.
Evaluate:

,2,3 |
D37 T NT
- T . R
(s 12 ) T Y T2

. -7, 7,16

) = TE (w} 39

2 -5 5 3
(vii) —"_:,: - [T] (viii) _T;'. - (‘EJ

(ir}—+2+l (::cj|-t+i+E
13 -3 6



Solution:

(i)

=

[

LCM.of3andd4=3x4=12

-2x4 N 3x3
Ix4 4x3
(- L.CM. of 3 and 4 = 12)

-8+9 1

12 12

LCM.of27and 18=2x3x3x3 =54

Tx2 . 11x3
~27x2  18x3
(- L.C.M. of =27 and 18 = 54)




LCM.of 8and 12=2x2x2x3=24

-3x3 N (-5%2)
8x3 12x2
(~ L.C.M. of 8, 12 = 24)
-9-10  -19
24 24
9 -5 -5 5

el B L




=

LCM.of lI6and 12=2x2x2x2x3=48

9x3 N §x4
-16x3 12 x4
(- L.C.M. of 16 and 12 = 48)

-27+20 -7
48 48

V) 5 + o+

(vi)

—

LCM.of9,12and I8=2x2%x3x3=36

-5x4 Tx3 N 11x2
9x4  12x3 18%2

(- L.CM. of 9, 12 and 18 = 36)

-20-21+22
36

41422 -19

36 36

7 16

~26 39

226,39

3113,39

13]13, 13

L1

L.CM.of26and39=2x3 x 13 =78

-7x3 . 16x2
26x3  39x2
(L.C.M. of -26 and 39 = 78)

—21+32 11
78 78




=

LCM.of3and 7=3 x7 =21

“2x7 %3
Ix7 | Tx3
(- L.CM.of3 and 7 = 21)




LCM. of 7and8=2x2x2x7 =56

-5x8 N Ix7
Tx8 8x7

(" LCM of 7 and 8 = 56)

=40+ 21 -19
56 56

(ix) — +2+ —

2126, 13
13/13,13
1,1
L.CM.of 26 and 13 =2 x 13 =26

T=1 N 2x26 11x2
26x1  1x26 13x2

(+ L.C.M. of 26, 13 = 26)

=

7+52-22

= T2



59-22 37
= T 26 26
]+..E-+£
@-1+23+%
2/13,6
3/3,3
T, 1

LCM.of3and6=2x%x3=6

—-1x6 2x2+5x1
Ix6  3x2  6xl

(- L.C.M. of 3 and 6 = 6)

—

—6-4+5
6

B -10+5
6

_ o3
6



Question 2. ;
. — - B
The sum of two rational numbers is = . If one of them is 1§, find the other,

Solution:
-3
Sum of two numbers = “‘é—
0 ber = "3—
ne numoer = 16
. d number = — — —
. Second number = 2 " 16

,”l“lmi“
' .
[ =]

(- L.C.M. of 8 and 16 = 16)
9

16 16

-9

. Second number = E



Question 3. .
The sum of two rational numbers is -5. If one of them is =5 , find the other.

Solution:
Sum of two numbers = -5

-52

One number = *5'5"

5

Second number = -5 — ( 25

—5x25 N 52x]
1x25 25x1

-125+52 =77
25 - 25

=77

", Second number = E



Question 4. ;
What rational number should be added to ~ 6 to get

1

(=]
=

Solution:
S f ber = d
um of two number 4

3
One number = 'i"g

_ 1 (Z3
. The required number = 2% [16)

LCM.oflé6and 24 =2x2 =2 x2x3

= 48
(- L.C.M. of 24, 16 = 48)
_ 11x2 N Ix3
T 24x2  16x3
22+9 31

48 48



Question 5. ;
What rational number should be added to ~ 3 to get 2?

Solution:

The required number = 2 — [:g‘J

2432
5
_ 2x5 +3x1
~1x5  5xI
_l0+3 133
5 5 %5
Question 6. ) )

]
e

What rational number should be subtracted from 12to get

Solution:
=5 5

The required number = IRy

12, 24
12
6
.3
1

o

3

-

1

hend R B
ad

LCM.of 12and 24 =2x2x2x3 x 3
=72

-5%6 Sx3
= T2x6 ~ 24x3
(- LCM. of 12,24 = 72)

30-15 45 -5
= "7 72 U8




Question 7.
What rational number should be subtracted from zto get s ?

_Solution:

-5
The requlred number = E _ 3.

oo
Lh

‘IM.
Ln

|| B2 8] 02
S
N

f—
Ln

ot
-5
i

5x5 8x8
8x5 5x8

(L.CM. of 8, 5 = 40)

25-64 -39
40 40

=

Question 8.
Evaluate:

. EXE) [—_5x 6 )
D 8"21) "9 "2
if 12-25 ,__st.s..]

@ (1576 ) * (35 %

EX-ZZJ (13 =175
(Hh “\25 26

i -—13}(_35] (ixi‘\l
W) \77 739 )~ 45 13,




Solution:
8- (3
D18 21) * 79 "2

Tx24  —5x6
= Bx21 | 9x(=25)

1x3 N 1x2
= 1x3 T 3x5

3 2
= T+
3 15
3[3,15
5115
L1
(- L.C.M. of 3 and 15 = 15)
3Ix5 ' 2x1
= 3x5 ' 15xI
15+2 E B 11
=15 1515

(8 _-25) (-18_S
@ (15716 ) * 35 76
8x(-25) -—18x5
15x16 35x%6

1%(=5) (u3xlj
= 32 Tk

v
|

3
7

6,
3,
1,
1,1

-1

-~

[Rwt
~1

LCM.of6and 7=2x3 x7=42
(- L.C.M. of 6 and 7 = 42)

—5xT7 3x6
= 6x7 " 1x6
-35-18 =53
= =—

42 42



. [Ex__‘n] (Exif‘.)
Gi) (3327 ) —\ 25 26

18x(-22) 13x(-75)
33x27  25x26

2x(-2) 1x(=3)
I3 1x2

-3-(3

+1
2

=

U
-ol_L

9,2

.

[

el et s
—_r—

w0
k

1,1
LCM. of9and2=2x3x3=18

—4x2 N 3Ix9
9x2 2x9

(+L.CM.of9and 2=18)

-8+27 19 1

18 18 18

oo (z13 =35) (=79
M7 39 ) a5 14
-13x(-35) N 7x9
Tx39 45%14

=1x(-5) 1x1
+
1x3 S5x2

.4
0

U
L | W
—

el
—
(=]

A e i
;—-L-J
L n

fa—
-
—_—

LCM.of3and10=2x3x5=10



Sx10 N =3
= 3x10 10x3

(- L.C.M. of 3 and 10 = 30)

5043 53 _ 23
30 30 30

=

Question 9.
_ 36
The product of two rational numbers is 24. If one of them is 11, find the other.

Solution:
Product of two numbers = 24

-36

One number = ?

-36
*. Second number = 24 + “]*l“'

5)
=24x {34

(-11) =22
» =
3 3

=2

Question 10. " i
By what rational number should we multiply =7 ,so that the product may be T2
Solution:

-5

it e - (2)
equired number = —= = | 75

-5 [‘_9)_1
=9 *“l20) 7 4

I
. Required number = 7



